JoogIriogog s

20050 70 40 (O)

1. V=Aa(yy), Y=AzVV 00000000 Yo =3 2(Yz) 0000000
O (FagYz==(Yz) 00D0O000000000000)0

2.0000000000D0DO0DLO0ODbOOoO0DbOo0bLObOOoDbDDbO0O,bOon
U000 «-0000000000b00b0b0bob0obobobobon

z:aDB Dy x:x

BDO~y y:p
T\
a>y M y:adDf z:a«
Boa>qy Y 3
aDy "
Y

3. 000 ((eD>p)Da)>D—-—a 00 LJOODODODOOOOOODOODOO

4. 0000000 LJOOoOoooOoOoOooboOoOooo NJooooboooooboo
oood

5. 000 (rop)dp)D(gdr)d(rdg)d>r 0 00D0DOODDDDO HK
0000000000000



OO0o00o0oo0bO0 NJOOOoDboooo 3bboo

xﬁa
M:aDp N:«a M:pB
MN : 8 , AM:aDpf
M: L
AM : «

oooooobo LJoboooboooooooo.

() a — «
(N) L - «

oooooobo0 LJooooooob eDOD

goboobooooon

I'—»~ a,a, ' =

a,I‘—>7(w_>), a, ' =~ (¢ =)
Ao, B, T =~ I's>a aA—xy
ABal—y 7, LAy

gboboboboboob

I' >« ﬁ’A_WY(D%) a,l' =3

aD>B A~ . Toaog



